Virginia High School League

Scholastic Bowl, 2000-01 season

State Competition, Match #6


These questions have been written for use by the Virginia High School League’s Scholastic Bowl competition at the State level by Shawn Pickrell. These questions are to be used by the Virginia High School League to conduct their Scholastic Bowl competition under the following conditions, which must be known by all coaches, competitors and spectators of the competition.
(a) Release of these questions to any entity not affiliated with the Statecompetition or the schools that are members of the given State before all State champions have been announced is prohibited. This is meant to keep question security.

(b) Competitors may not discuss or otherwise reference these questions with other entities in the Commonwealth of Virginia that are associated in any way with the Scholastic Bowl competition before all State champions have been determined. This is also meant to keep question security.

(c) After that, these questions may be freely released to entities within the Commonwealth of Virginia. These questions may also be discussed or otherwise referenced between entities within the Commonwealth of Virginia. This is meant to allow the proliferation of these questions so that all schools in the Commonwealth of Virginia may have practice material for future Scholastic Bowl competitions, and therefore this practice is encouraged.

(d) These questions may not be released AT ANY TIME to entities outside the Commonwealth of Virginia, except with prior approval of Shawn Pickrell. Discussion of these questions, however, is permitted between entities within and without the Commonwealth of Virginia This will apply to ANY entity in the Commonwealth of Virginia that receives these questions, be it directly from Shawn Pickrell or indirectly through various means.

First period: 15 toss-ups
1.
THIS IS A COMPUTATION QUESTION. An angle of 60 degrees has its vertex at the center of a circle that is 6 inches in diameter. How big is the arc that is created by this angle?

ANSWER: 2PI inches (The circle’s diameter is 12 inches. Thus the circumference is 12PI inches. 1/6 of 12PI inches is 2PI inches.)

2.
The Haber process produces what chemical compound by reacting nitrogen with hydrogen?

ANSWER: HABER process

3.
After being fired from his Navistar International plant for allegedly being involved in a theft ring, what 66-year-old man killed four people and himself at his former place of employment on February 5?

ANSWER: William D. BAKER
4.
This historical drama by Alexander Pushkin is named for the man who reigned as tsar between 1598 and 1605. What is this drama named for a man whose name was spoofed on Rocky and Bullwinkle?

ANSWER: BORIS GUDUNOV
First period (continued)

5.
What is the term in psychology used to describe the procedure where people agree to participate in an experiment only after they are told the activities they will perform?

ANSWER: INFORMED CONSENT
6.
In 1555, he retired, splitting his vast European empire between his son Philip II of Spain and his brother Ferdinand I. Who is this man whose empire included Spain, the Netherlands, Austria and significant parts of Germany, the greatest of the Hapsburg kings?

ANSWER: CHARLES V
7.
This word, taken from the Latin words for to laugh down, is a transitive verb meaning to laugh at with contempt, to mock or to scoff at. What is this six-letter word starting with D?

ANSWER: DERIDE
8.
Jacques-Louis David is known for his painting of the death of what French Revolutionary figure who was stabbed to death in the bathtub?

ANSWER: THE DEATH OF MARAT
9.
This phenomenon is caused by the interaction of electrons and protons from outside the atmosphere with the atoms of the upper atmosphere. The exact reasons for this interaction are not known, but it is believed that the Earth’s magnetic poles act as a catalyst of some sort. What is this phenomenon that is most frequently seen at the high latitudes of both hemispheres?

ANSWER: AURORA (accept Aurora borealis or Aurora australis, prompt on Northern Lights)

10.
THIS IS A COMPUTATION QUESTION. A farmer needs 1 pound of seed to plant 10 square feet of field. Seed costs $5 a pound. How much will it cost him to plant a field that is 100 feet by 200 feet?

ANSWER: $10,000 (field is 20000 square feet, 2000 * $5 = $10,000)

First period (continued)

11.
Abdullah Ocalan (oh-JAH-lan) was the leader of the PKK, a group which sought to establish Kurdish independence from what country?

ANSWER: TURKEY
12.
What constant expresses the rate at which the universe is expanding, and is denoted by the symbol H?

ANSWER: HUBBLE constant

13.
A low grade action flick requires three people getting killed every five minutes and two women taking off their shirts every eight minutes. Assuming a two-hour flick, what is the total number of people getting killed and women taking off their shirts?

ANSWER: 102 (72 people get killed and 30 women take off their shirts)

14.
As governor of Wisconsin, he established direct primaries to nominate candidates, and as Senator, fought for the passage of the 17th Amendment. Who is this man that in 1924, ran for President on the Progressive ticket?

ANSWER: Robert M LA FOLLETTE
15.
He kills Mercutio, a friend of Romeo, and is then killed by Romeo. Who is this Capulet cousin whose murder causes Romeo to be banished to Mantua?

ANSWER: TYBALT
Second period: 10 directed questions

Read the questions marked with “A” to the team that selected question set A and the questions marked with “B” to the team that selected question set B.
1A.
What term is given to a variable that is an array of characters?

ANSWER: STRING
1B.
What name is given to the large-scale circulation of winds around a central region of high atmospheric pressure?

ANSWER: ANTICYCLONE
2A.
What state is the only state to not have a bicameral legislature?

ANSWER: NEBRASKA
2B.
What short story by James Joyce, the last of his Dubliners collection is set before, during and after a dinner party attended by Gabrial and Gretta Conroy?

ANSWER: THE DEAD
3A.
Who is the main character of Slaughterhouse-Five that gets ‘unstuck in time?’

ANSWER: BILLY PILGRIM
3B.
Who is the composer of the work Music for the Royal Fireworks?

ANSWER: George HANDEL
4A.
Whose first two symphonies are called the ‘Titan’ and the ‘Resurrection’, respectively?

ANSWER: Gustav MAHLER
4B.
John Paul Jones, captain of the Bonhomme Richard, was fighting what British ship in the famous battle where he said ‘I have not yet begun to fight?’

ANSWER: SERAPIS
Second period (continued)

5A.
Thrombin and fibrin are two chemicals involved in what process which is started when platelets break off on hitting the rough area of a wound?

ANSWER: blood CLOTTING (prompt on scarring)

5B.
THIS IS A COMPUTATION QUESTION.  A pair of dice are rolled. What are the chances of an even number coming up on the dice?

ANSWER: ½ or 18/36 (2 has a 1/36 chance, 4 a 3/36, 6 a 5/36, 8 a 5/36, 10 a 3/36 and 12 a 1/36)

6A.
What unit of nautical measurement is defined as six feet?

ANSWER: FATHOM
6B.
What name is given to the energy released during the change of a mole of a vapor into a liquid without a change in temperature?

ANSWER: HEAT OF CONDENSATION
7A.
Air Force General Curtis LeMay was the Vice-Presidential candidate of what third-place finisher in the 1968 Presidential election?

ANSWER: George WALLACE
7B.
What award is presented along with the Newbery Medal to the ‘artist of the most distinguished American picture book for children?’

ANSWER: CALDECOTT Medal

8A.
Who is the preacher of the Great Awakening that wrote the sermon ‘Sinners in the Hands of an Angry God?’

ANSWER: Jonathan EDWARDS
8B.
William Booth is most associated with what church where he was the first General?

ANSWER: SALVATION ARMY
Second period (continued)

9A.
In which of Sartre’s plays can the phrase ‘Hell is other people’ found?

ANSWER: NO EXIT
9B.
Richmond County, New York, is better known as what ‘Island’ which has voted to remove itself from New York City?

ANSWER: STATEN Island

10A.
Pitchblende is the main source of what element?

ANSWER: URANIUM
10B.
THIS IS A COMPUTATION QUESTION. What is the volume in square inches of a rectangular solid that is 3 inches by 1 foot by 6 inches?

ANSWER: 216 SQUARE INCHES
Third period: 15 toss-ups 

1.
The NASDAQ index was severely hit in early February by poor earnings reports from what manufacturer of routers and other Internet equipment?

ANSWER: CISCO
2.
His grandfather Abdullah was assassinated for his alleged moderation toward Israel. His father Talal was put aside due to his mental instability. Who is this man whose son, Abdullah II, is now king of Jordan?

ANSWER: King HUSSEIN
3.
THIS IS A COMPUTATION QUESTION. What is the slope-intercept form of a line that has a slope of 3 and passes through (-2, 5)?

ANSWER: Y = 3x + 11 (y = 3x + b, plug in –2 and 5 yielding 5 = -6 + b, with b = 11)

4.
Also called black lead or plumbago, what is the name given to the allotrope of carbon made of hexagonal crystals arranged in flat planes?

ANSWER: GRAPHITE
5.
She was named for the slave ship that brought her to the United States. Who is this woman that wrote the volume Poems on Various Subjects, Religious and Moral, the first Black poet with a major reputation in the West?

ANSWER: Phillis WHEATLEY
6.
Who is the character in David Copperfield that nearly robs Mr. Micawber blind, while proclaiming his humbleness the entire time?

ANSWER: URIAH HEEP
7.
Tryptophan, methionine, valine, threonine, phenylalanine, leucine, isoleucine and lysine are all what class of amino acids that cannot be created by the human body and therefore must be found in the diet?

ANSWER: ESSENTIAL amino acids

Third period (continued)

8.
THIS IS A COMPUTATION QUESTION. A cylinder is 10 inches tall and has a radius of 6 inches. A 2-inch in diameter cylinder is carved out of the first cylinder. What is the volume of the solid that remains?

ANSWER: 350 CUBIC INCHES (The first cylinder has a volume of 360 cubic inches, the cylinder that is being removed has a volume of 10 cubic inches)

9.
When the Romans referred to the province of Lusitania, they referred to this modern day country, the westernmost part of the Empire. What was this country, remembering Lusitania was to the south and west of Hispania?

ANSWER: PORTUGAL
10.
Patsy Cline’s classic Crazy was written by this man who later became a star in his own right. He teamed with Julio Iglesias to sing ‘To All the Girls I’ve Loved Before.’ Who is this country singer that is best known for the song ‘You Were Always On My Mind?’

ANSWER: Willie NELSON

11.
THIS IS A COMPUTATION QUESTION. What is the derivative of the product of the binomials 3x plus 2 and 5x minus 4?

ANSWER: 30X – 22 (Use the product rule to get 3(5x-4) + 5(3x+2) which yields 15x – 12 + 15x + 10, which yields 30x – 22)

12.
In 1818, while serving as Secretary of War, he had supported punishing Andrew Jackson for his actions during the Seminole War. Thirteen years later, these actions resurfaced completing the split between Jackson and what other man, who by now was serving as Vice-President?

ANSWER: John C. CALHOUN
13.
What French painter gave the world Morning Mystery, The Betrothed and Still Life with Flowers?

ANSWER: Marc CHAGALL
Third period (continued)
14.
What four-letter word starting with O means a burden or obligation, especially a disagreeable one, a stigma, or the burden of proof?

ANSWER: ONUS
15.
What type of ultraviolet rays are the harmful rays that cause skin cancer and other tissue damage?

ANSWER: UV-B rays

Spares
What name is given to muscular tissue that can be expanded and contracted voluntarily and is not cardiac muscle?

ANSWER: STRIATED or SKELETAL
He is the only player in baseball to have hit 200 or more hits in each of the past three years. Who is this shortstop that is negotiating a 10-year, $189 million deal with the team that he says he wants to be a part of for life, the New York Yankees?

ANSWER: Derek JETER
As the Civil War was raging in the United States, France, England and other creditors of Mexico overthrew the government of Benito Juarez and established what puppet Emperor of Mexico?

ANSWER: MAXIMILLIAN
THIS IS A COMPUTATION QUESTION. What number is 160 percent of 95?

ANSWER: 152 (95 * 1.6 = 152)

What is the following sentence in the active voice? The ball was thrown by David.

ANSWER: DAVID THREW THE BALL
All questions © 2001 by Shawn Pickrell. Unauthorized use, as described on the first page of this document, is prohibited.

